
CLASS:- 11TH, HISTORY, MCQS:-  

 

1. The first railway line in Britain was constructed in between the 

cities of Stockhom and Darlington. 

(a) 1822 C.E. 

(b)1824 C.E. 

(c)  1825 C.E. 

(d)1827 C.E. 

(c) 1825 C.E. 

2. Which one of the following is not true regarding the demands of 

participants of Luddism? 

(a) Fix working hours. 

(b)Control over women and child labour. 

(c) Employment for those who had lost their jobs due to coming 

of machinery. 

(d)Right to form trade unions to legally present their demands. 

 

(a) Fix working hours. 

 

3. Which one of the following is a machine that greatly contributed 

to the revolution in textile industry? 

 

(a)Flying shuttle 

(b)Watt steam 

(c) The typewriter. 

(d)The locomotive 

 

(a) Flying shuttle 

 

4. were those laws which prevented the import of cheaper 

food until prices in Britain had risen to a certain level.  

(a) Wheat Laws 

(b)Rice Laws 

(a) Corn Laws 

(b)Lentil Laws 

 



(c) Corn Laws 

 

 

5. The first Derby invented a _ in 1709 C.E. 

 

(a) Flying shuttle 

(b)Blast Furnace 

(c)The typewriter. 

(d)The locomotive 

 

(b) Blast Furnace 

 


